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QUESTION 1

What happens when a packet matches a static route with the next hop parameter set to reject? 

A. The system silently drops the packet 

B. An ICMP message is sent to the source and the packet is forwarded 

C. An ICMP message is sent to the source and the packet is dropped 

D. The packet is forwarded and the packet is marked as rejected in the header 

Correct Answer: C 

Reference: https://www.informit.com/articles/article.aspx?p=30666andseqNum=5 

 

QUESTION 2

Click the Exhibit button. 

You must create a static route on Router-A to the 10.10.5.0/24 network using 10.10.3.2 as the next hop. Referring to the
exhibit, which configuration accomplishes this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 
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Correct Answer: D 

 

 

QUESTION 3

Which three attributes are well-known mandatory BGP attributes? (Choose three.) 

A. next-hop 

B. AS path 

C. local preference 

D. MED 

E. origin 

Correct Answer: ABE 

Reference: https://www.kwtrain.com/blog/bgp-pt2 

 

QUESTION 4

Which MPLS feature works with Constrained Shortest Path First (CSPF) to protect against the primary and secondary
paths using the same link? 

A. fate-sharing 

B. explicit null configuration 

C. policy control over LSP selection 

D. LSP metrics 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit what are two reasons for the configuration stanza? (Choose two.) 

A. to reduce the risk of forwarding traffic through a stateless tunnel 

B. to mark the tunnel down after the hold-time expires 

C. to remove the tunnel interface from inet.0 after the hold-time expires 

D. to mark the tunnel up after the hold-time expires 

Correct Answer: AB 
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